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In this article is demonstrated the necessity of chemical knowledge for everyone whether profession 

he have. 
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     ( VI)      
     :  

1.    ;    
2NH +CO +H O = (NH)CO ; 96,5%.    ,  3 2 2 4 2 3

2.        
(NH )CO + CO +H O = 2NHHCO ; 4 2 3 2 2 4 3 .  
3.       
NH HCO +NaCl = NHCl+NaHCO v. 4 3 4 3    
           

:  : -,  
2NaHCO  = NaCO +H O+CO . 3 2 3 2 2       
   , ,    

   , 
      :  
.  CaCO  = CaO+CO; ?H=177,9 .  3 2
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  :  2NH Cl+Ca(OH) = CaCl+2NH +2H O. 4 2 2 3 2

CaO+H O = Ca(OH),      2 2 
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